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— =A) & (EA) (EA) (EA) (EA)
o 52.3 69.1 34.8 37.1 16.4 36.0
Mg 90.2 88.7 46.0
HAL 57.4 52.9 35.0 26.3
o 52.8 47.6 35.9 25.5
o™ 71.0 70.4 15.2 36.8
2 46.6 411 19.7
CH A 58.3 52.7 24.4
24 71.2 63.6 46.3 36.4
27| 72.6 61.7 51.9 28.9
2 26.9 22.5 23.9 14.2
e 34.2 27.6 28.2 21.4
e 35.5 28.6 31.9 16.5
N 26.0 21.1 21.1 14.1
Nyt 21.4 14.6 26.9 12.2
a4= 28.3 22.5 26.7 13.1
Ay 43.3 36.6 35.0 14.2
RES 28.5 28.2
o (=} b (=1 o X (=} %
A DCH M Mg 47| 47| 8 S 23 Mg Mz
90.2 88.7 61.7 63.0 46.3 81.5
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21.4 411 14.6 8.3 7.8 13.6
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—= (=AH) | (&4 EAH) (EA) (EA)
o 77.2 79.2 49.2 68.4 62.9 55.6
Me 91.5 89.6 69.2
A 75.7 71.7 67.5 43.7
o+ 75.4 70.7 67.5 41.2
ol™ 80.6 771 51.3 53.0
=S 69.9 65.2 36.8
A 76.2 71.8 39.8
SA 80.9 72.2 65.2 58.5
27| 81.7 63.6 72.2 68.4
PAX]| 74.1 43.4 69.2 67.8
== 73.6 47.3 64.3 65.5
St 71.0 42.7 66.0 60.4
PN 69.3 411 61.2 60.5
Myt 66.8 341 64.8 59.0
ae 73.1 42.3 67.9 64.9
det 74.5 451 67.2 63.3
S 68.1 67.4
o (=) X |__c|>_ [=)
2| T k| Me M 47| 47| ok ZH ol MEg =
91.5 89.6 63.6 90.1 74.3 84.7
=[] CH e 3 e s 2 ol &3t ¥F =7
66.8 65.2 34.1 54.0 49.7 32.8
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